[ Efficiency vs vertpos |
- 0.2

o E : : :

0.18F i b ) SR

Z3S0% UM N W 1

2 0.16f : e

O - . . x .

50.14_ i PR SRRPRRRRE PPPPP

L_) r . .

£0.12
0.1

0.08

0.06

0.04

0.02
10

Ratio

1.1

i = = =

;ng U LR R I L L LN LR

[EnN
2
N
=
o
N

1 10 0?
TP vertr (cr%)

MKEIT_T1base
mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
mkFit_TT_baseline_6iter

mkFit6_TT retrainOldFiles125 v2 prelimWP_epoch2 wSQCD

<4

> 016 et
> o
& o
90-14:_ ................................................
(8] L
E0.12F ey it e
5} o

0.1

°
[ o
O N
TTTIJTT[TTT
Eron.oy

Ratio
R
NN

b

R
E%i;%gz':""
P

0 0 10 20 30
TP vert z (cm)

|
Wrrr
o

|
N
o

|

[ Efficiency vs. sim PV z |
~n 0.2
> S SO S R S S

L e S RRE AR A cTTTTT R e
S o : : : : : :
7R Al 1 S A S
£0.14F
& o
c0.12

9] Eoo : : : : : :
o o H . . H . . .
£ Od-eeieeprniceees AR Frrerdeeeeed e B
(3] . . . . . .

0.08F
0.06F
0.04F
0.02F

10
1.05

Ratio

0.95F-
0.9,

Sim. PV z (cm)



	Contents
	Page 1


